WRITTEN EXAMINATION (OBJECTIVE TYPE MULTIPLE CHOICES) FOR THE POSTS OF LDA
{COPYIST/ TYPIST FOR THE DISTRICT JUDICIARY OF ASSAM.

Date: 11-06-2017 (Sunday), Time: 11 am to 1.00 pm
Total Marks: 100 Duration: 2 Hours

All question carry equal marks and there is no negative marking.

GENERAL ENGLISH

Find the correct meanings of the followings -

1. Oppugn
A) Insult {B) Question the truth or validity
ClQuestion on opinion {D} An open issue for debate

2. Dissension
A} Dissection of human body (B) Diversion of decisions

C) Disagreement that leads to discord (D) Dissertation

3. Kluiz
A} A foolish person (BJA part of vehicle used in diving

C) Keeping a person under clutches (D) None of the above

CiFull of attitude

Sedulous
A} Indushrious

C)Seduction

4, Contretemps
Al Accident {B) Difficulty
C) Misadventure (D} All of above
5. Febile
A) Feverish {B}Delirious
C} Both {A) and (B) (D} None of {A} and (B
6. Gratuitous
Al Complimentary {B) Greatness
CiGratefulness (D) Shocking
Overlay
A} Cover {B) Over due
C} Oversiay (D) Outside
Plentitude
A) Excess (B} Pleasant atftitude

{D)Mone of the above

(B) Lazy

(D)Fast



10. Sheer ‘
A} Utter {B)Cheer
CjShout ' {D}Cry

Rearrange the following five sentences in proper sequence for megningfyl paragraph and
then answer the guestions given below:

After examining him, the doctor smited at him mischievously and took out a syringe.
Thinking that he was sick, his father called a docior.

That day Roju wanted to take teave from school.

immediately, Raju jumped up from the bed and swore he was fine.

Therefore, he pretended to be sick and remained in bed.

b W

i1.  Which sentence should come third in the paragraph?
A) 2 {B})3 {C )4 (D)5

12. Which sentence should come last in the paragraph?
Al {B) 2 {C)3 D)4

13. Which sentence should come fourth in the paragraph?
A} 1 (B)2 (C)3 (D)4

14. Which sentence should come second in the paragraphe

A) 5 (B} {C)2 (D)3
15, Which sentence should come first in the paragraphe
A} 1 (B)2 (C)3 (D)4

Read fhe following passage and answer the questions below:-

Harold a professional man who had worked in an office for many years had a fearful dream.
in it. he found himself in o land where small slug-ike animals with slimy tenfacles lived on
people’s bodies. The people folerated the loathsome creafures because after many years
they grew into elephants which then become fthe nafion’s system of transport, canying
everyone wherever he wanted to go. Harold suddenly redlised that he himself was covered
with these things and he woke up screaming. In a vivid sequence of pictures this dream
dramatised for Harold what he had never been able fo put in to words; he saw himself as
letting society feed on his body in his early years so that it would cary him when he retired.
He later threw off the "security bug" and fook up freelance work.
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16. Where did Harold found the stug-like animals?

A} In his dreams

C] in his land

{B}In his office

(DjNone of the above

7. What did Harold throw away?

A} Slug-like animals

CiSecurity bug

{B)Elephants

{DjAnimals with slimy tentacles

18. Which did become nations system of fransportation?

Al Slugfike animals

(B}Elephants

CJHuman {D)None of the above
19. Where did the animals with simy fentacles live bsfore coming to the
elephants?
A} Inlands {B) in human
Clin dreams {D)Nowhere
20. What profession Harold chose ofter the dream?

A} Started working in office
Clstarted freelance work

Choose the correct sentence:

{B) Started working in lands

{D}He satidle

A)}The weather of Burma suited me {B)The climate of Burma suited me.

C)Both A and B are correct.

A)The audiences of a game.

C)Both A and B are correct.

Allwao-third of it is true.

Cliwo-third of it are true,

A)My circumstance is bad.

C)My circumstances is bad.

(D)None of A and B,

{B)The spectators of a game,

{D}Ncne of A and B.

{B)Two-thirds of it is true.

{D)Two-thirds of it are true.

{B}My circumstances are bad.

{DIMy circumstance are bad.
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A)JThe man who | saw ran away. {B}The man whom | saw ran away.
C)The man which  saw ran away.  {DiThe man what | saw ran away.

Fill up the blanks:

26, We set the dog ihe thief.
A} To (B} On [ClUpon (D}None of the above
27. We took him an honest man.
A} For {BjTo {C} Off (DOt
28. The ship ran a rock,
Al On {BjUpon {C)To [D)None of the above
29. lhave put an application for leave.
Al In (B} For [C}On (DYOff
30. Make your deficiency in English.
Al On (B}JUp (C) Of (D)To

Choose the comrect answers:

31. Feminine gender of ‘Man-servant' is
A} Woman-servant (BJFemale-servant

Cllady-servant {D) Maid-servant

32. Masculine gender of ‘Pea-hen’ is
A} Pea-cock {BjCock

C)Rooster {D)Pea-slender

33. Appropriate preposition of Bequeathis________
A} To (B)Of {C)From {D)into

34. Appropriate preposition of Apprise is
A} To (B)Of (C}From {D}Into

35. Meaning of ‘maiden speech’is
A} Speech of a lady {B)Speech which earns an award

C)First public utterance (DINone of the above

-



36.  Meaning of ‘white elephant’ is
A} A big establishment {BJA defunct boady

CJA costly but unprofitable establishment {D}A rare thing to be found

37.  Meaning of ‘dog-in-the manager' is
A] A puppet of the employer  (B) Unnecessarily selfish

CJA worst administrator  (D)An employee honest to the arganization
38. ‘Jack-in-the-box fellow’ means

A} Fickle minded (B} Stable minded

C} A frapped person (D} None of the above
39. ‘'Happy-go-ucky’ means

A} Hophazard (B)Easy going

C) Happy in all situations {D}INone of the above

40.  'Yeoman's service' means
A)  Great senice {B) Worst service

ClService rendered in exchange of huge money
D}An unnecessary service

GENERAL KNOWLEDGE

41.  Whichis the longest bridge in India?

A}Bandra Worli seq link {B)Mahatma Gandhi Setu
C)Bhupen Hazarika Bridge {D)Vikramsila Setu
42.  Inwhich yeor was the East India Company established?
A} 1500 {B}1400
C)1700 (D)None of the above

43.  Inwhich year was Bangladesh born?
A} 1970 {B}1971

C)1972 {D)1973

44.  When was the Assam Accord signed?
A} 150 Aygust, 1984 {B)15™ August, 1985

C1i5% August, 1986 (D115 August, 1987



45.  Where was the first oil field in Asia drilled?
A} Dulicjan {B)Dighoi

C)Rangoon (D)Beijing
6. Who was the first indion to grow tea commercially in Assam@
A) Jyoti Prasad Agarwalia (B)Robert Bruce
C)Bessa Gam {D)Maniram Dewan
47. Who/whatis Rongmon#?
A)Nlc:me of an elephant  {B}Mascot of 2007 National Games of India

C)Mascot of 20135 National Games of india  {DiNone of the above

4B, On whom the Hindi movie ‘Dangal’ was made?
A) Geeta Phogat {B)Vinesh Phogat
C)Shakshi Malik ID)None of the above
49, who was the first woman cosmonaut fo fiy info the space?
A} Valentina Tereskhova {B}Kalpana Chowla
C)Sunita Williams [D)None of the above

50. 51 June is known as

A) World book day (B}World cids day

C)World environment day {D}None of the above
51, Who was the first Indian cricket player fo win ‘Arjuna’ award?

A) Kapil Dev {B)Saleem Durani

ClAjit Wadekar (D} Dilip Sardesai

52. who is the present Chief Justice of India?

A)Mr. Justice J.S.Khehar {B)Mr. Justice R.M.Lodha
C)Mr. Justice Y.V.Chandrachud [DiNone of the above

53. Who is known as the Human computer of Indic?
A) Shashank Dave {B) Arjun R. Krishnapurihy

C)shakuniaia Devi [DiNone of the above



54. What is the extension of PDF2

A) Probable Document Form (B)Portable Document Format

C)Precise Document Format (D)Precise Document Formation

53, Which company's nickname is 'The Big Blue'?
A) Infosys (B]IBM

B} TISCO {D)Relicnce

56.  Who designed the new Indian Rupee symbol?
A} D, Harshvardhan {8}D. Uday Kumar

C} D. Uday Raju {D)None of the above

-57. Which amongst the following books was authored by Jim Corbeti?
A} Cryin wilderness {B)Man-eaters of Kumaon

C)ihe ione survivor {DiSurvival of the fittest

58. Which of the followings was written by Rabindranath Tagore?
A) Gitanjali {B}The post office

CjHome and the world {D)All of above

59. Which of the following districts of Assam is having an international border?

A)Cachar {B}Karimganij

Cjlakhimpur {D)None of the above
60. Who was the first Indian woman to win a gold medal in the Olympicse
A} Babita Phogat (B)Deepa Phogat

C)Karnam Malleswari {D)None of the above

GENERAL APTITUDE

61. Ten years ago, P was hailf of Q's age. If the ratio of their present ages is 3:4, what will
be the total of their present ages?

A) 45

B) 40
C} 35 D) 30

62. A tain runs at the speed of 72km/h and crosses o250 metre long- platform
in 26 seconds, What is the length of the train?

A} 270 metre B) 210 metre

C)340 metre D) 130 metre



43. The speed of a boat in still water in 22 km/hr and the rate of current is 4 km/hr. The
distance travelled downstream in 24 minutes is:

A} 9.4 km B) 10.2 km

C)10.4km D) 9.2 km

44. The present ages of A,B and C are in proportions 4:7:9. Eight years ago, the sum of
their ages was 56. What are their present ages (in years)?

A} Insufficient data B}16.30,40

C} 16,2840 D} 16.28.36

65. Sobhda's father was 38years of age when she was born while her mother was 36 years

old when her brother four years younger to her was bormn. What is the difference
between the ages of her parents?

A} b6 years B} 55 years
C} 44 years D}33 years

A.B,C.D.E and F are seating in a round table playing cards. A is in fronf of E. C

is on the right hand of E. D is in the leff hand of A. A is on the left hand of F and

B is on the right hand of F. Now answer the followings:-

66. Who is between A and C2
A} E (B)B {C)F (D)ID

67. Whois between A and E?
Al DondC : {B)fand D

CJFand B {D)Both options A and C above

48. Who is between Fand D?
A) A (B} B {CiC . D} E

69. Who is between B and D2

A} FandA (BIEand C

B) Both options A and B (D) None of options A and B
70. Who is between B and C?2

Al A (B}D {CJE {DIF

If offer taking a break, A seats in the seat of E and E seais in the seat of A, then
answer the followings:

71. Who is on the right hand side of A¢
Al B {B)C (CID {D)F
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Who is on the left hand of E2
Al D {B)C [C)F (D}B

Who is between A and D2
Al C (B)B (C)F (DD

Who is between B and £2
A) F 8)C (CiD (DA

Who is sitting to the right hand of E but left hand of B2
A)F (B)E (C)D (D)C

if A quits the game and leaves the table, then who will be seqating next to C¢
Al B (B8)D {C)Both the above [D)None of the above

[f A quits the game and leaves the table, then who will be seating to the right hand
of B¢
Al C (BIF (C- (D)None of the above

if both A and D leave the table, then who will be seating between E and B2
A) F (BjC { C)Both the options A and B above
are correct {DINone of the above

i
If both £ and D leave the table, then who will be seating between C and F2

A} Band A (B) B
B} None {D}Both the opfions A and C are correct .

If the person seating at the right hand of A, but left hand of D, who is one of the
persons seating between A and E, but clockwise between F and B, leaves the table,
then who is that person?

A} C (B}F (C}B {D)None of the above
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